NEW PRICE NEW ITEM

								INLVV IILIVI	
No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
1	black fiber glass welding blanket		Color: Black spec.: 1.83M(witdh)*45Meter (82.35 m²/ROLL) made of silica fabric at ± 800 grams/m² intended to withstand a temperature of ± 550°C	€ 1,163.36	1	roll	€ 1,163.36	from Beg. of March	시트타입도 공급함 불티방지포(롤) ISO 9150:1988-12 TÜV 21278287 001
2	gold fiber glass welding blanket		spec.: 1.83M(witdh)*45Meter, (82.35 m²/ROLL) '- This welding blanket is made of fiberglass at± 1.000 grams/m², with a gold/yellow color coating with on one side acryl coating and on the other side neoprene coating This welding blanket is intended to withstand a temperature of ± 550°C The welding blankets which are made of gold fiber glass	€ 1,456.49	1	roll	€ 1,456.49	1~1.5W	ISO 9150:1988-12 TÜV 21278287 001
3	Welding Screen		orange/red welding screen 1,74 x 1,74 Meter – Fits within frame 1.8 x 1.8 mtr. – Heat sealed seams and grommets – Nylon ties are furnished for convenience and secure fastening to the quick connection DIN EN ISO 25980:2015-01	€ 25.43	4	pcs	€ 101.70	1~1.5W	Available Size: 1,74 x 2.34 Meter JM can offer Roll Type as well!
4	Welding Screen	C C C C C C C C C C C C C C C C C C C	Green welding screen 1,74 x 2.34 Meter – Fits within frame 1.8 x 2.4 mtr. – Heat sealed seams and grommets – Nylon ties are furnished for convenience and secure fastening to the quick connection DIN EN ISO 25980:2015-01	€ 33.42	4	pcs	€ 133.68	1~1.5W	Available Size: 1,74 x 1.74 Meter JM can offer Roll Type as well!

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
5	Modular Frame for Welding Screen	1.8 x 1.8 mtr. 1.8 x 2.4 mtr.	 - 1.8 x 1.8 mtr. / 1.8 x 2.4 mtr.(Combo) - The COMBOframe™ suitable for the welding screens as above! - Will be delivered as only frame (incl. swivelset), without screens 	€ 78.42	2	pcs	€ 156.84	1~1.5W	
6	Welding Curtain (Orange/Re d)	12 M W	Size: 68* 180cm - the strip screens are made with a specially formulated vinyl, 0,4 mm. thick. - At the upper side of the strip is a reinforced heat sealed seam with 5 grommets. - 5 rings (Ø 50 mm.) are included for convenience and secure fastening. - The strip screens are manufactured and certified according to EN 1598.	€ 27.12	10	pcs	€ 271.20	1~1.5W	available Green Color
7	connectabl e welding Screen		Green connectable welding screen 137 x 180 cm. (Incl. 9 rings Ø 50 mm.) – 1.37 x 1.8 mtr. – Connectable welding screen – Heat sealed seams – Will be delivered together with 9 rings Ø 50 mm.	€ 28.93	5	pcs	€ 144.64	1~1.5W	available Red Color
8	Tarpaulin cover		PE 10x15Meter , 70g/m2 color: Blue or dark Green	€ 65.61	5	pcs	€ 328.06	0.5~1W	천막지 공사 야적자재 덮 개용, 사이즈 다양 함
9	Industry cleaner (Label Remover) 500ML		Effective Simple removal of adhesive residue, labels, and adhesive tape Dissolves stubborn dirt such as wax, rubber abrasion, silicone residues, permanent marker, oil and grease	€ 7.14	48	pcs	€ 342.60	0.5~1W	price checking 12pcs/box 점착이물 제거용 available 5 liter IPA, 아세톤 공급 합니다.

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotatior (부가세미포		Qty (MOQ)	Unit	ıΑ	mount	L/T	Remark
10	Wurth Brake Cleaner Uni rapid 500ML	WURTH BREASSI- REINIGE UNI AAPID	For cleaning and degreasing during maintenance and repair work. Fast flash-off behaviour and excellent cleaning performance Fast and effective removal of soot, grease, brake dust and oily residues Residue-free cleaning Acetone-free	€ 2.	.13	144	pcs	€	306.00	0.5~1W	price checking 24pcs/box
11	Wurth Brake Cleaner 750ML	WORTH STANSSO THE STANSSO	Fast flash-off behaviour and excellent cleaning performance Fast and effective removal of soot, grease, brake dust and oily residues Residue-free cleaning Acetone-free Good material compatibility with paints, plastics, seals and rubber	€ 3.	.50	72	pcs	€	252.00	0.5~1W	price checking 24pcs/box
12	Mold Release Agent 400ML	WURTH TORANT TORANT TORANT ROUBING PRETING AGAIN	Can be used up to +120°C Greatly reduces rejects Physiologically safe Washes off easily Subsequent treatment of injection moulded parts such as printing, painting and metallising etc. is possible Slight deformation of injection-moulded part, Silicone-free	€ 9	.03	24	pcs	€	216.60	0.5~1W	price checking 24pcs/box big qty need to check the price once again.
13	MAINTENA NCE OIL MULTI 400ML	WURTH RELI	Versatile multi-functional spray for a range of applications Lubricates, cleans and maintains Removes rust and protects against corrosion Resin, acid and silicone-free Does not attack rubber, paint or plastics	€ 6.	.34	48	pcs	€	304.20	0.5~1W	price checking WD40 대체품 (Better Quality!) 대용량 공급 가능
14	Superlube Grease	Super Ellipse SEGS	2.4kg Color: white (translucent) Application temperature: -43°C ~ 232°C Can be used for food processing machines	€ 124	.75	4	pcs	€	499.00	1~1.5W	한국고객사들 많이 선호하는 제품

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	A	Amount	L/T	Remark
15	Knotless safety net		PP, 5 mm, eye 100 mm, rope around the entire circumference Safety nets according to EN 1263-1 safety net type S (with perimeter rope), arrangement with square meshes, rope around the entire perimeter 30 kN, certificate GS 07100011	€ 6.58	80	m2	€	526.40	checking	variouse type of safetnet JM Euro can supply
16	Knotless protective net		non-flammable PP, 5 mm, eye 45 mm, color: Green, White Knotless nets have a reinforced edge (stitched around the perimeter with an inserted cord)	€ 12.40	50	m2	€	620.20	checking	different thickness & eye size JM can supply
17	Safety Rope		Rope twisted 16 mm in some color PP 16mm color: available several color Coiled PP ropes and cords excel in their resistance to weather and chemicals, they are suitable for everyday use in construction, gardening and agriculture. Due to their water resistance, they can also be used on a boat or ship. PP rope coiled 3 strands "A" to which this statement applies is consistent with the following standards: ČSN EN ISO 1968 80 8510	€ 1.02	1000	Meter	€	1,020.00	1W	available color need to check
18	Rope Static		Rope diameter - 10mm, strength - 30kN, min. strength with knots - 15kN, number of falls - 30, elongation - 3.5%, braid displacement - 0mm, weight - 69g/m, rope length 30Meter	€ 76.46	2	roll	€	152.93	1~2W	available length: 30/60/100/200 Meter
19	polyamide twisted rope		polyamide twisted rope terminated with eyelets diameter 14-16 mm available in two lengths: 10 m and 20 m material: polyamide standard: EN 696 color: white	€ 35.27	3	roll	€	105.81	0.5~1.5W	

NEW PRICE NEW ITEM

								INLVV IILIVI	2023-03-00
No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
20	Common Rope					meter	€ -		
21	Safety constructi on fence (Ornage)		tensile strength 11 kN / m grammage 250 g / m2 The expansion process in the production phase and the high weight guarantee greater resistance, rigidity and strength. Packaging :50 m2 / Roll Color: Orange Package weight: 12.5 kg Dimension: 1 x 50 Meter Eye size: 85 x 25 mm Type: Network	€ 98.15	4	roll	€ 392.58	1~1.5W	
22	Webbing Tape		Polypropylene woven tape. It is available in 10, 15, 20, 25, 30, 40 and 50mm widths. Grades for different tape widths: 10mm-6g / m, 15mm-9g / m, 20mm-12g / m, 25mm - 15g / m, 30mm - 18g / mb, 40mm - 24g / m, 50mm - 30g / mb. It is characterized by high resistance to friction and tearing. Length: 50Meter Application: webbing tape is used in the	8.66	30	roll	€ 259.80	1~2W	price with 30mm width
23	TAPE WITH REFLECTIVE STRIPE		Polyester tape woven with a reflector. The application is mainly jackets, bags and backpacks. Available in widths from 20 to 75mm. Length: 50Meter	17.19	20	roll	€ 343.80	1~2W	price with 30(15)mm width
24	Carrying Belt		color: Black width: 40mm Length: 50 Meter	€ 4.90	20	roll	€ 98.00	2~3D	Special Price 벨크로 공급합니다
25	Carrying Belt		color: Black width: 25mm Length: 50 Meter	€ 2.90	20	roll	€ 58.00	2~3D	Special Price
26	VecIro Hook or Loop		HOOK or LOOP TAPE , PES/PA width: 20 mm 25Meter / ROLL	€ 2.61	120	roll	€ 313.20	1~2W	different type JM can offer

NEW PRICE NEW ITEM

						• •				INEAN LICIAL	2023-03-00
No.	Item	Photo	Code, Spec.	_	uotation ト세미포함)	Qty (MOQ)	Unit	Α	mount	L/T	Remark
27	Enclosed Blade Safety Knife		Concealed cutting edge for complete safety Super sharp carbon steel rotary blade Easily cuts through plastic strapping, film or card Reduces the risk of damaging contents when opening packages Rubberised handle for superior grip and comfort	€	3.13	24	pcs	€	75.19	1~1.5W	MOQ: 24 PCS/BOX
28	Safety Knife	martor	Catalog number :BN M445 Product dimensions :100 × 7.8 × 25.5 mm Weight :35 g Cutting depth : 8.5 mm	€	8.52	10	pcs	€	85.20	1~1.5W	
29	Plastic barrier post		Bases should be filled with sand or water to ensure that the posts do not fall. Height :920 mm Width :280 mm Color :Red / white Material :Plastic 10pcs/box	€	190.90	4	box	€	763.60	1.5~2W	
30	Plastic post with an octagonal base		Material plastic , Color black / white / red , Product dimensions 28 × 28 × 86 cm , Height 90 cm, Volume approx. 4 l Inner opening Ø 4.2 cm , Weight 0.5 kg , Column distance max. 2 m	€	12.65	50	pcs	€	632.50	1~1.5W	
31	Connecting link		8mm, Accessories for connecting the plastic chain to the post. Add a practical link to your plastic chain for easier connection of the chain to the barrier post.		0.65	50	pcs	€	32.50	1.5~2W	
	Plastic chain Red/white	CH CH	Material polyethylene, Color white / red Length 25 Meter, Suitable use Eye size 49 × 29 × 7.5 mm, Weight 2.7 kg Specific gravity 110 g / m, Temperature resistance —10 °C to 75 °C		36.46	8	pcs	€	291.64	1~2W	avalable thin chain with better price

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
33	Connecting link - coupling "S"	⊘ ≈ ∞	Material polyethylene, Color Red, Width 55 mm Length 9 mm Height 30 mm, Suitable use Weight 0.01 kg Temperature resistance —10 °C to 75 °C	€ 0.26	50	pcs	€ 13.00	1~2W	888
34	warning cone		Material polyethylene Product dimensions 27 × 27 × 50 cm Color orange / white Height 50 cm Weight 0.6 kg	€ 9.48	40	pcs	€ 379.20	1~1.5W	availale reflective silver color
35	warning cone		High quality plastic cone with robust construction, black base and reflective stripes, available in sizes 50 cm	€ 12.36	40	pcs	€ 494.52	1~1.5W	75cm, 100cm need to check price and leading Time
36	warning cone		The cone can be used with a barrier tape handle on top of it to create a continuous barrier. Barrier tape is sold separately Height:500 mm Width:290 mm Color:Red / white Material:Plastic Weight:1.1 kg	€ 30.00	20	pcs	€ 600.00	1~2W	available 75cm !
37	Barrier system for traffic cone		Connector with retractable barrier tape suitable for mounting in the upper part of traffic cones. The connector offers 4-way connectivity with receiving brackets on three sides. Suitable for outdoor use. Length :3000 mm / Height :240 mm Diameter :100 mm / Material :Plastic Tape color :Red / white Console color :Red / Weight : 0.4 kg	€ 20.40	30	pcs	€ 612.00	1~2W	

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
38	Traffic cone		Safety cone with reflective strip. The safety cone takes up minimal space when packed. Height :420 mm / Width :250 mm Color :Orange / Material :Plastic Weight : 0.5 kg	€ 15.60	30	pcs	€ 468.00	1~2W	available 620mm, 휴대용
39	WARNING FILM		Warning film red - white, size 80mm x 100Meter , non-adhesive.	€ 4.08	20	ROLL	€ 81.60	1~1.5W	
40	SELF- ADHESIVE WARNING TAPE		48MMX33M BLACK-YELLOW PVC tape with yellow and black warning stripes. Use: to demarcate dangerous areas, staircases, entrances, low ceilings, storage areas, etc.	€ 5.24	15	roll	€ 78.54	?	
41	PVC Warning tape 33 Meter	1500	Warning tape is ideal for marking risk zones and safe escape routes. Width:50 mm/ Color:Black/yellow The tape is made of durable, laminated, highly resistant PVC film. We recommend applying the tape to a clean, dry surface.	€ 6.76	20	roll	€ 135.20	2W	
42	Floor Line Tape		50mm*33M 24roll/box	€ 4.73	72		€ 340.20		
	3M Masking (Line) Tape		50mm*33M Yellow, red. Green, mix	€ 6.78	24	roll	€ 162.72	3~4D	24pcs/box Good Quality

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
44	Stop Light		It is intended for stopping and driving vehicles in road traffic with reduced visibility. The turn signal can work in continuous or flashing light mode. Technical parameters: length: 40 cm / diameter: 4 cm power supply: 2 x type D batteries (not included) / light source: red LED	€ 19.50	10	pcs	€ 195.00	1~2W	
45	traffic control indicator		very light, only 175 g (without battery) length of light unit 34 cm LED light source light color red or green continuous or flashing light Visible up to 1.5 km Up to 400 hours in flashing mode power supply 2xR20 cells	€ 35.75	5	pcs	€ 178.75	1~2W	
46	LED Light Stick		offers a high luminous flux of up to 350 lumens (ANSI) and an afterglow of up to 126 meters . This version offers easy operation and four levels of light output with an operating time of up to 200 hours . Control and switching on is solved by the	€ 39.90	10	pcs	€ 399.00	5~7D	old price
47	Red Traffic Wand for above light		Red signal cone It scatters the originally very narrow light beam of the reflector in all directions. The luminaire with a traffic warning cone can thus be used, Length 18.5 cm, outer diameter at the reflector 3.0 cm	€ 5.50	10	pcs	€ 55.00	5~7D	compatible with No. 46 사이즈 확인필!
48	Flashlight mounting rechargeable		LED mounting lamp, 60 leds(700lm) - high luminosity and light brightness at min. 4 hours, recharging time approx. 2.5 hours, 230V / 50Hz power supply or 12V power supply in the vehicle, suspension hook - magnet for attaching to metal substrate, shockproof, waterproof	€ 42.35	4	pcs	€ 169.40	2~3D	

NEW PRICE NEW ITEM JM Euro s.r.o. 2023-03-06

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
49	Tactical Torch		Brightness 180 lumens Beam distance 300m (high), 150m (medium) Run time 8 hours Function high-medium-flash Batteries included AAA x 3 CE certified	€ 14.95	20	pcs	€ 299.00	1~2W	그 외 다양한 형태 의 후레쉬 있음.
50	Cleaning Cloth 천보루		Mix-Material White color 10kg/pack	€ 15.24	36	pack	€ 548.50	1~2W	possible 90% cotton / Mix color 36pack/ pallet
	discount				1	time	-€ 832.87		3,000€~:5%
	Delivery Charge		To Slovakia/ Hungary/ Poland/ Czech 10€/BOX ~ 120€/PALLET express 단독차량 160~190€ 1DAY	€ 35.00	1	Ship	€ 35.00		1,000€~: Free (부피)중량물 제외 (예:보루,저가안전모, 안전화,소화기,라바 콘 등등)

EXW Trnava(SK)

€ 15,859.48

Payment : In Advance

If the qty is changed , probably the price will be changed

Leading Time; counting after payment confirmation

https://www.jmeuro.com/warningsafe